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ESTlGre ¢ = 1,886,163 X 1,854,020 -32,143 &R
B E e Y 6,903,084 Fov 6,910,872 7,788 Ha4%E
R = 9,301,039 X 9,320,636 19,597 1%
ImEE 18,090,286 18,085,528 -4,758 iR
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1-1-2 FEATRRIH L3 R E R 1 =X 4,443,340 1 K 6,464,080 | 2,020,740 |#&%E
1-2 2B MRE T F IRV 831,780 1 =K 831,780 0
2 | HRREh )RR L 1 K 3,158,040 1 5 3,045,300 -112,740 %A
3 |REERMLEF IV 25,954,790 IRV 25,997,890 43,100 |H5%E
4 |HENHER R L 1 X 175,160 1 K 175,160 0
5 |[THHFRBN LI IV 184,610 IRV 184,610 0
6 | EERRN LF
6-1 2FZ HAYL—A Hrax 1 =K 2,317,680 1 = 2,317,680 0
6-2 SFEbHEE Hrar 1 X 1,943,830 1 K 1,943,830 0
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9 | BEABCEA - b LR R T 1 K 279,260 1 =X 279,260 0
10 | BBk SR i 1.5
10-1 A B kISR T 1 =® 281,370 1 K 281,370 0
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